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1. bR > 35 BEREEEE - A Cam=EATRER - 4 ¢
C: [{# main.c
C++ : _Ef% main.cpp
Java ! _[{# Main.java

2. FEAAEEE B4Ry 8 - SN A S B R SR e ZE
1EHE © main.c ~ Main.java ~ problem1.java
#E=% © Main(3).java ~ Main 1.java ~ Main[1].java

3. FERFTE ML SR B S A SO R AT -
DICHIARE F 95 —RE A

-
| £ Executable

l/ Program output
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TR
TEEE

EEE e ]

[FEI=IEE g

<=@%E5 K © No-Wrong Answer
BELH T (BT EREE ... ) HEEFE RN LE s -

4. Compiler FEELFHFEENL N ERIRCA R 2E » SREEMIEAF2ME TH -
BRI e AVEE S EI AT ¢
jdk-8u45-windows-x64.exe(java Compiler)

mingw64.zip(c/c++ Compiler)
vc-web.exe(Microsoft C++ Compiler)

NDP452-KB2901907-x86-x64-AllOS-ENU.exe(C# Compiler)
SRR ppt (ZER IR R E B



http://algorithm.csie.ncku.edu.tw/ITSA_PTC/download0.php?id=2
http://algorithm.csie.ncku.edu.tw/ITSA_PTC/download0.php?id=201
http://algorithm.csie.ncku.edu.tw/ITSA_PTC/download0.php?id=124
http://algorithm.csie.ncku.edu.tw/ITSA_PTC/download0.php?id=4
http://algorithm.csie.ncku.edu.tw/ITSA_PTC/download0.php?id=1

5. PCA2 > Test THEEZES -
MEUHBARE H 1 7E Rl
REE R -
» Sum
> P ARG A
THESBRRE RS DY
> E I
WA B %N (0<n<100) -
b By RA:
B b AR R B AR A e 48 A o IR L AR HATE T °
> g1l

Sample Input Sample Output
A 10

A. [FERHZCEAR A Input HIE (VBB —1) :
E inputtxt - ;E=& E@g

BER £HEE #BIO BEN FBED
4 -

a4 2

B. B A PCr2:

75:28 Exit

Submit Run |’\riew Runs |’ Request Clarification rView Clarifications |’0pﬁons |
B.
Problem

|Prohlem1 | = |

~TEnguage
|GNUC |v| C.

Thain rile
C:\Users\INCKU-PTC\Desktop\F a5k AI2£\01. SumiClsum.c Select D

Additional Files |

C. BEEEH
D. BEEREAGES
E. BHEHVIEZS



F. %1 Test
G. ZEFEMIMIE/ERY Input:

() s -e

===

=) ||j Desktop

oo
-] [=] (=] [=] BBlE]

[ FdrRilst

3 s EfEE

[y Acrobat Reader DC.Ink
[} Cyawin64 Terminal.ink
[y DriverToolkit.Ink

[ input.txt

< [ ]

LB [input bt

RESERERI(T): |ﬁﬁﬁmx

H. i AysS R

i - - Wy
&| Test P o t
| | Tes rogram utpu

| Program output |

10

Team program exit code = 0x1

Close

AR Input 72 5 A AR

-
|£:| Test Program OM M—
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Program output

15

Team program eXit code = 0x1

Close




